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POLITICAL SCIENCE - HONOURS

Paper : CC-13

(Public Administration : Concepts and Perspectives)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Answer the following questions (each in a single sentence) :

(a) Why is adoption of decision important in Public Administration?

(b) What is the role of the State in Public Administration?

(c) Who defined Public Administration as "detailed and systematic execution of Public Law"?

(d) WhV does 'delegation' receive importance in administration?

(e) What do you mean by 'Unity of Command'?

(f) What does the seventh letter 'R' of POSDCORB indicate?

(g) Metnion two theorists of Comparative Public Administration.

(h) Who is the exponent of the SALA model?

(i) Who is the author 'The Proverbs of Administration' (1946)?

0) What is the importance of 'coordination' in organization?

(k) What is the main objective of 'Democratic Centralism'?

O What is the meaning of the 'common ownership of the means of production'?

(m) Who, for the first time, theorised bureaucracy as 'parasite'?

(n) What do you mean by 'disinvestment'?

(o) What is the meaning of 'G2P' in electronic governance?
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2. Answer any one question (within 100 words) :

(a) In Public Administration the conceptual importance of 'centralization' and 'decenb.alization' is
immense. Explain statement. 5+5

(b) Discuss the main features gf electronic governance. 10

3. Answer uny one question (within 500 words) :

(a) Explain the nature and importance of the debate on politics-administration dictotomy in Public
Administration. 1GF5

(b) What is the rationale of emergence of New Public Administration? In this context discuss the main
features of New Public Administration. 5+10

Module - 2

1. Ansu'cr any one question (rvithin 100 rvords) :

(a) At the centre of Fred Riggs' rnodel of Development Administration lie the environmental conditions.
l:rplain the staternent. 10

(b) Discr.rss the role of 'communication' and 'controf in administrative organization. 5+5

5. Ansu et any one question (tyithin 500 u,ords) :

(a) Erplain, fbllowing Weber, the features of bureaucracy. Do you think that Weber's perspectir-e on
bureaucracy is 'mechanical'? Give reasons for your answer. 10+5

(b) Deflne public policy. In this context briefly discuss the main models of public policy. 5+10


